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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases, marked (1), (2), (3), or (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76- Jack ......... an experiment when the phone rang. He was solving a math problem ......... .
1) hadn’t done — herself 2) hasn’t done — him
3) was not doing — himself 4) didn’t do — her
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77- Jane always likes to drive a/an ......... car. She thinks it is so cute.
1) little red new English 2) English red little new
3) little new red English 4) new English little red
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78- Ronaldo has been in hospital ......... his accident. Now he is thinking about ......... football.
1) for — to quit to play 2) for — quitting playing
3) since — quitting playing 4) since — to quit playing
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79- Don’t borrow money from friends if you ......... absolutely have to.

1) wouldn’t 2) won’t 3) didn’t 4) don’t
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80- FC Porto which has ......... signed Mehdi Taromi lost their first game against Juventus.
1) hopefully 2) commonly 3) naturally 4) recently
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81- One of my students, immediately after her graduation, ......... for the Ministry of Health and
started her job as a physician in the beautiful province of Isfahan.
1) signed 2) added 3) employed 4) solved
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82- Having a high knowledge is of a great ......... in developed countries, but the poor nations think
money is the most precious thing in the world.
1) skaill 2) success 3) work 4) value
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83- Sushi is a very ......... dish in Japan and some other countries and is served in most of the
restaurants across the country.
1) international 2) generous 3) popular 4) cultural
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84- ... , I enjoy using all the learned languages, but my favorite language is absolutely my
mother tongue.
1) Honest 2) Be honest 3) To be honest 4) I am honest
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85- How could you get the job that easily?

B: I had some good personal ......... in fashion design.
1) experience 2) principal 3) likelihood 4) component
sl o \ 4335 AD
s sgl Cews 4 cxly Lol Jas o] ilys gl (il
P a2 2l 0 ps5 et L e (o
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86- Due to the spread of Corona disease, our ......... opening hours has changed from 10 a.m. to 7 p.m.
1) specific 2) constant 3) regular 4) alternative
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87- According to the US police report, the ......... majority of crimes is carried out by students who
join gangs instead of going to school.
1) long 2) vast 3) wide 4) high
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PART B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and decide

which choice (1), (2), (3) or (4) best fits each space. Then mark your answer sheet.

Some people seem to learn languages (88) ......... , while others find it very difficult.
Teachers and the conditions in which the language is learned also (89) ......... an important
role, as well as each learner’s goal for learning. If people learn a language because they need
to use it as part of their work, they often learn it faster than people studying a language that
has no (90) ......... use in their day to day life.

No language is easy to learn well, though languages which are related to our first
language are easier. Learning a (91) ......... needs hard work, but that does not necessarily
make a language more difficult than another. In the end, it is impossible to say that there is
one language that is the most difficult language in (92) ......... world.
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88-
1) quite simple 2) in a simple manner  3) very simple 4) simply
A | guzwo ) 7 ﬁ.l_)g AN
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89-
1) play 2) exercise 3)do 4) make
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1) confident 2) spoken 3) written 4) direct

Ll prazeis F an;¥ Q.
&, Es (Y Criedas (A

ot (* ;.S)l:—:*si 1\



YF axio eSS 55

91-
1) complete differently writing system 2) completely differently written system
3) completely different writing system 4) differently completely system in writing
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I)a 2) some 3)... 4) the
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PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by

four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then
mark your answer sheet.

Passage 1:

Even when asleep, the body needs energy. The more active a person is, the more
energy the body uses. The energy comes from the chemical “burning” of carbohydrates,
fats, proteins, and certain other substances such as alcohol.

The energy values of different foods can be measured by burning them in a special
small oven called a calorimeter. Energy in food is often measured in calories. One
kilocalorie, usually written as kcal or Calorie (with a capital C), is the amount of energy
required to raise the temperature of one kilogram of water by 1°Celsius. In fact, the
Calorie 1s a unit of heat, not energy. In the modern system of measurements, energy is
measured in joules. (1 Calorie equals 4.2 kilojoules). You can find the calorie content of
almost any food by looking in a slimming magazine or book.

An adult needs, on average, a little under 3000 Calories a day. A manual worker
would need 4,000 or more, because of the energy used up in physical activity. Children,
who are growing and are also very active, need extra Calories as well. As people become
older, they need fewer Calories, partly because they are physically less active and partly
because some of their body tissues become chemically less active.
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93- The best title for the passage is ......... :
1) Carbohydrates 2) Energy and Food
3) Fats and Proteins 4) Chemical Burning
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94- According to the passage, the energy values of foods can be measured by ......... .

95-

96-

1) chemicals 2) the use of boiling water
3) the activity of the person 4) burning them in a calorimeter
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The passage points out that Calorie is actually a unit of ......... g
1) heat 2) joules 3) energy 4) Celsius
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‘Which of the following is likely to need fewer Calories?
1) adults 2) manual workers  3) women 4) old people
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Passage 2:

What happens if you don’t get enough sleep? Randy Gardner, a high school student,
wanted to find out. He designed an experiment on the effects of sleeplessness for a school
science project. With doctors watching him carefully, Gardner stayed awake for 264 hours

and 12 minutes. That’s eleven days and nights without sleep!

What effect did sleeplessness have on Gardner? After 24 hours without sleep, Gardner
started having trouble reading and watching television. The words and pictures were too
blurry. By the third day, he was having trouble doing things with his hands. By the fourth
day, Gardner would only imagine things. For example, when he saw a street sign, he thought
it was a person. He also imagined he was a famous football player. Over the next few days,
Gardner’s speech became so unclear that people couldn’t understand him. He also had
trouble remembering things. By the eleventh day, Gardner couldn’t pass a counting test. In
the middle of the test he simply stopped counting. He couldn’t remember what he was doing.

When Gardner finally went to bed, he slept for 14 hours and 45 minutes. The second
night he slept for twelve hours, the third night he slept for ten and one-half hours, and by the

fourth night, he had returned to his normal sleep program.

Even though Gardner recovered quickly, scientists believe that going without sleep can be

dangerous. They say that people should not repeat Randy’s experiment.
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97- The word “blurry” in paragraph 2 is closest in meaning fto ......... .
1) wrong order 2) not normal
3) difficult to see 4) impossible to understand
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98- Which sentence is NOT true according to the passage?
1) Gardner couldn’t pass the counting test.
2) Gardner imagined he was a famous football player
3) People could understand Gardner’s speech very well.
4) By looking at a street sign, Gardner thought it was a person.
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99- The passage points out that Gardner had trouble doing of the following EXCEPT ......... L
1) remembering things 2) speaking too much
3) reading and watching TV 4) doing things with his hands
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100- It can be understood from the passage that Gardner’s experiment ......... .
1) was imaginary 2) was safe
3) wasn’t hard to do 4) wasn’t done by a scientist
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